S Sk
=i S

ZH7 . PRISFELSEERAT

B (hE) SEAT
BEHS: 64.500.24.01352.01

&7 BHHA: 2024-03-28

CCB_PCF_F_006CS 06 2023-11-09 1 of 44












i E B E IR S

REHRS: 64.500.24.01352.01

bk B E RS A N N

bk BT AR S = Rk e T E R —o
HNESDH
R B9 2L Bl14 FCEBITHIREMESH,; MHEBEFBELY, Ha
SRS RE S RFDARBHBER 5%LA
ZEFRIIESER X FEFRIEESR [ BRFIEER
T E HER 202428 7H
IiFzEHEA 20242 H 16 B
52540 &
ZEHK s

!ﬂ%’éﬁ i
(e Jf )
HWAR (MBR. £ | @RA < 1FERE « RER . MEKHE
SN . SMNERITEER
A i a1
. EEB « INEH

BEEINERN (FE) BRART MNP AE
ZEH AL

FREMMNHEBAEFRFERE 163 SEIAAE 5 1%
HEHA:

1 [ 120672018 iR EERFRES, RESQRRERERHINAER
= SRR ;

2) meAraxeFy=2n e -
3:2019;

3) BT IMERESASEIEMNZEINEWREIRF N CCB_GHG_P_09ECS BESMAREHESZEISIEE

A2,

BELL:

% b B IAZE R IEAT A 1S014064-3:2019 XWRAEHFEM “SIEH FEIEIAFRME~tITARRNE
=B HCAAY-50-12 F445 (H 10 FELS) 5 4310M-4310M-9*2 FBkE (H 10 HES) ~RMEE
FAIMEREES 3% 2.40E+03 kg COz eq (% o [ G5 =7 5
1.88E+03 kg COz eq (E4 9 Zpxgsmenn~anersym NG
mam et 1so14067:2018 || NG

CCB_PCF_F_006CS HRAS 06 B =55 2023-11-09 UG 5 of 44






ik Bz E RS
REHRS: 64.500.24.01352.01

3.1

3.2

3.3

3.4

BB TIIE . 24
B ERIBIR oo 24
FEBIEIE e 25
TREBERIR ..o 27

4 PRI B LR R I Moo 28
41  FPERERBIEELER. ..o 28
2 T 33
43  SEREEMER—EIEREE . ..o 34
4.4 AR EIED I oo 35
45  BOBBTEDM oo 35

5 PERRETHEELEICFITIEIEI ..o 38

B BEIIEE. ... 40

it A SEREEBIRBEAEIRIETUZR ... 41

CCB_PCF_F_006CS ¥R#= 06 B =55 2023-11-09

TG 7 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

KEF

R 11 FRES. BUBERITEER s 15
R 2-1 BRI S RBEREITEIEBTEIAT. ... 20
F 2.2 SEEEIRRIDBCAZRE . BRIUFRBME oo 23
z1 ., 24
& 3-2 44 HCAAYZ-50-12 EE R TTEBMETHEIRER ..o 26
& 3-3 Bk% 4310M-DM-9*3 EE R TIBMERNEIER ..o, 27
R 41 B EHREETTIRIREITIE R oo 29
yry 00— 30
R 4-3 BREAREE AR B SR I EEREL G ..o 32
% 4-4 445 HeAAvz-50-12 o iesrnwEr v ... 33
% 4-5 Btk 4310M-DM-9+3 pediesEE e ER v 34
R 4-6 45 HCAAYZ-50-12 B BIZBEREFRE DR ..o, 35
% 47 I 0M-0V-9-3 BRI E L REERBONE oo 35
R 4-8 £145 HCAAYZ-50-12 BB EHEREITRR ..o, 37
& 4-9 BkZ 4310M-DM-9*3 BB IMEIEBTE TR ..o, 38

CCB_PCF_F_006CS HRAS 06 B =55 2023-11-09 B3 8 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

EB=R
1-1 &4 miMIE (ELBETE&4~RES S5 HRCAY-50-9, HRCAYZ-
50-9, HCAAY-50-12, HCAAYZ-50-12, HHTAY-50-42, HCTAY-50-32,
HCTAYZ-50-23, HCTAY-50-22, HLRWUCYZ-50-22T, HLRHTCYZ-50-32T)17
1-2 Bk miMIE (ELEIGE TEkE~REI S 25079 4310M-4310M-9%2,
4310M-4310M-9%15, NM-NM-9*2, 4310M-4310MA-9*5, 4310M-DM-9*3,

4310M-NM-9*3, 4310M-DMA-9*3, DM-DMA-9*3, NM-NM-12*3, DM-DM-

L2%2) ettt ettt et e ettt e enanas 18
R e oy 5 Y 2 L NSRS OURRRUPRRRRRN 21
2-2 ZA A ARARIDREIERIZE. ..., 22

CCB_PCF_F_006CS ¥R#= 06 B =55 2023-11-09 U 9 of 44






ol R EIR S
RERS: 64.500.24.01352.01

1 =B

iy

BEIBAE (RE) BIRAS (WTEH TOV B SHRSIEMaRAS
MBS, XEAER P OL S T G B,

oREENBREE: 1) BHE RN RS SSRGS HTIAE;
2) |
RAMRRM, BN, —EOE. R, SEIMNER; PRSI R R AR

1.2 #ZEAEN

HRIZEEBRIE 1SO 14067:2018 (RESE-F KR T- B &4 S515E) W
ISO 14064-3:2019GRES (K H=HS RESAEINEE SKEMHTE RIS ##1T.
I -
BMMSN) (AR 6.3, LUFEIFR PEFCR SN) MIEHRE, HRIZESEM PCR
& EN 15804:2012+A2:2019 (BN TIZRVAIHFE M- IMR = MR- ma XM R~
SABETOINY . FsEnRtERenxE, Brzizaks I

Eipax =

CCB_PCF_F_006CS BRAS 06 B =55 2023-11-09 U3 11 of 44



ol R EIR S
RERS: 64.500.24.01352.01

1.3 ZEIHEWEER

TUV EfEF 2024 £2 B 7 H5 2023 &£ 2 A 16 BRI SRES #1177 XMHFiTFE
MIMFIZE, NRMRBEIE: BWEAREE. HBSEEE. HREEa. WhsE
#sa. EmxrnsmErvaxecz. |Th
e

(1) BEAZEILR. HROSHAHBURIREIE;
(2) REFENOFRHHRERXAGEKFEIEFSEAIFRE. 2R, BT

2891

il

BREE;
(3) ZERENAMEIEITEIIE;

¢

(5) BRERIEMXHFERIZE,

=asrEaasEnEks T =

BHETRIEN 100% U5, £EPFRARXIZITI0UE,
1.4 SIEEA

1) ERRETETFRTE 1SO 14067:2018 tNENREETFHEA, TESFRER
EARERGIFN AR IR b B iR
g

FERTFE 1SO 14064-3:2019;

CCB_PCF_F_006CS BRAS 06 B =55 2023-11-09 U3 12 of 44



ol R EIR S
RERS: 64.500.24.01352.01

s = GHG_P_09ECS RES

AEHE SZETELMIERF,
1.5 RELMZZREF @R

FRSHABS AR ASIKILT 2004 & 12 B, 4SHIEFI 70500 F5K, EBREFA
40000 F7K, FMEE 5 127T.

NEEEFMEESRRMEBL. SINEMMEBL. RttEHEBEL. B®iK{ES B4,
I 0 1 SES A R

#5. 50000km | lookm =:5445. 15000km JRittEB4E. 80000km B &R FE

0t

SREE4E. 13000km FXEX S S B4 AR RECEMFRYEEFEES T,

I
1
[ IO e e o NI Y et
I

AT —HERIFIIES L B, DB R SR A RE SR, EH—3
S, BHNERER. AT “BPRABSEERERSBHETON RS,
EbNGE
|

CCB_PCF_F_006CS BRAS 06 B =55 2023-11-09 U3 13 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

IRSHEERARISESTN 10 REHS5 10 HBL. SLR—FEERES
|
HNEE—RENMRSEE, RESBAIMNERRINZHLSIRERIN, SHER
FRAMESEE. RERBTIEEEEXET EIRERETURAR. TIRER e
susauwsEgs, wsszEaanEzs sof
IR INETIRE, RETEHIR.

B ST R RR S, SRR EN R AR BI0K 1-1 Fim. &4 5

SMRG0E 1-1 P, BREF= anbMRA0E] 1-2 Ao

CCB_PCF_F_006CS HRAS 06 B =55 2023-11-09 U3 14 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

® 11 FmES. BERTERER

o5 Fmils = anERdE BHElASR A~ &
HCAAY-50-12 2.26E+02 kg/km 2.03E+03 km
HCAAYZ-50-12 2.44E+02 kg/km 5.32E+04 km
HRCAYZ-50-9 1.86E+02 kg/km 1.21E+03 km
HRCAY-50-9 1.71E+02 kg/km 3.51E+03 km
o HCTAYZ-50-23 5.91E+02 kg/km 5.40E+00 km
e HCTAY-50-22 5.22E+02 kg/km 2.32E+02 km
HCTAY-50-32 1.11E+03 kg/km 2.50E+00 km
HHTAY-50-42 1.64E+03 kg/km 8.73E+00 km
HLRWUCYZ-50-22T 3.77E+02 kg/km 1.86E+02 km
HLRHTCYZ-50-32T 1.05E+03 kg/km 2.34E+03 km
4310M-4310M-9*2 5.00E+02 14/km 9.60E-02 km
4310M-4310M-9*15 6.67E+01 f4/km 7.71E+01 km
NM-NM-9*2 5.00E+02 14/km 3.50E+00 km
4310M-4310MA-9*5 2.00E+02 f4/km 3.69E+00 km
Bss 4310M-DM-9*3 3.33E+02 14/km 7.96E+01 km
4310M-NM-9*3 3.33E+02 f4/km 4.31E+00 km
4310M-DMA-9*3 3.33E+02 14/km 2.00E+00 km
DM-DMA-9*3 3.33E+02 f4/km 1.50E+00 km
NM-NM-12*3 3.33E+02 14#/km 4.22E+00 km
DM-DM-12*2 5.00E+02 f4/km 1.20E-02 km
CCB_PCF_F_006CS hRZE= 06 -:?&EI,HH 2023-11-09 TIkg 15 of 44




ik Bz E RS
REHRS: 64.500.24.01352.01

CCB_PCF_F_006CS fRAS 06 B0 2023-11-09 U3 16 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

1-1 4= mIMNRE (ELEIETELRES 2579 HRCAY-50-9, HRCAYZ-
50-9, HCAAY-50-12, HCAAYZ-50-12, HHTAY-50-42, HCTAY-50-32, HCTAYZ-

50-23, HCTAY-50-22, HLRWUCYZ-50-22T, HLRHTCYZ-50-32T)

CCB_PCF_F_006CS fRAS 06 B0 2023-11-09 U3 17 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

1-2 BkEEFmIMNRE (A LA TEkERES DR 4310M-4310M-9%2,
4310M-4310M-9*15, NM-NM-9*2, 4310M-4310MA-9*5, 4310M-DM-9*3, 4310M-

NM-9*3, 4310M-DMA-9*3, DM-DMA-9*3, NM-NM-12*3, DM-DM-12*2)

CCB_PCF_F_006CS fRAS 06 B 2023-11-09 U3 18 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

2 #ECHE

2.1 BES MK

AR SRR SN EE SAEES IPCC B VTHERSEE—, BiE
=g (co.) . B cHEEEGEEBlo) . ~5u (sr) . Sa8mw

¥ (HFCs) . £&xfk¥ (PFCs) FMl=&&E (NF3) o
2.2 1ZEHERE Kt =

RIZEF mAY M E IR AR 0% 2-1 Fim. M aEr it i a

MEFFRATFLKKTTOR 105 5o FandE RN R UE 2-1 Firo

CCB_PCF_F_006CS ¥R#= 06 B 2023-11-09 U3 19 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

* 2-1 BESFRAVERE TR E)A R

FEmER Fmis BYiElia 5t
HCAAY-50-12 2023-01-01~2023-12-31
HCAAYZ-50-12 2023-01-01~2023-12-31
HRCAYZ-50-9 2023-01-01~2023-12-31
HRCAY-50-9 2023-01-01~2023-12-31
HCTAYZ-50-23 2023-11-01~2023-11-30

s HCTAY-50-22 2023-07-01~2023-12-31
e HCTAY-50-32 2023-12-01~2023-12-31
HHTAY-50-42 2023-12-01~2023-12-31
HLRWUCYZ-50-
2023-06-01~2023-12-31
22T
HLRHTCYZ-50-
2023-01-01~2023-12-31
32T
4310M-4310M-9*2 | 2023-08-01~2023-08-31
4310M-4310M-
2023-01-01~2023-03-31
9*15
NM-NM-9*2 2023-01-01~2023-03-31
4310M-4310MA-
2023-02-01~2023-02-28
\ 9*5
Bk
4310M-DM-9*3 2023-01-01~2023-06-30
4310M-NM-9*3 2023-09-01~2023-10-31
4310M-DMA-9*3 2023-02-01~2023-02-28
DM-DMA-9*3 2023-02-01~2023-02-28
NM-NM-12*3 2023-01-01~2023-04-30
DM-DM-12*2 2023-09-01~2023-09-30
CCB_PCF_F_006CS ERAS 06 B0 2023-11-09 BIF3 20 of 44




ik Bz E RS
REHRS: 64.500.24.01352.01

2-1 FFaEFHIEIAR
2.3 FEEARAL

B i, AR L S B A
sty 1 km 245, [P s== FEERE I 1 km Bk (KEMTEE
HKE) ,

2.4 BYSHR

N . (i ik kA P B
1B, 85 AL-AS-FRMER 1 NMERERM R, A4-AS-BIETIEMER. B-fEREMER.
CEEERERMERS D-RANRINN BT O EEE = RE S APNARSIR TN,

Hrp A-F= @M B E8E AL-RMEMRL. A2-iEif AS-RiE=1F87T, ~mia/Ei

I = 23 i

CCB_PCF_F_006CS HRAS 06 B =55 2023-11-09 UG 21 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

2-2 ZLirrmEn ARRGLAIIERIZE

2-3 Bk mE S AR AL RIIERIZE
2.5 BYERN

142 150 14067:2018 RAExAnE (M GG
wimzmitel. £mpae. axsp s

CCB_PCF_F_006CS HRAS 06 B =55 2023-11-09 UG 22 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

FREFRAERFILFABNSMNGELLGIN 99.00%, EF-MENERKREIR

HAE EFEFYHIRAMA BRIt N 55, RS ERELMILHE. & TFRIRE.

2.6 HECREM

T - o oo EieR BRI R T B,

R 2-2 BuEThEEN D ERER. RNMEE

O REEF SECEM PEEY
B I \ \
BEZrp ol I \ \
e ‘ I SF&
A iERERE H A4 RE oA IR EC .
(2 km 4G KE)
N X I BrF&E
SEIREEFEY HA4 = RE S ES IR EC \
(2 km &4 KE)
5 I \ \
A NACIGRpOY BT BS Cut-off 1&EY \
= 2-3
U REEF SECEN SEREY
B I \ \
2Rl I \ \
N X I B2rF&E
T T2RERE HAERENHE YIRS ER )
(Bkex S ARE0)
. . II_IE\,::Z%
I REEFEY HAE = mEINSE IR EC \ ,
(Bkk 2R%0)
L] i3l \ \
R B R EIWHETTRI 2 BS Cut-off 1&&Y \
CCB_PCF_F_006CS BRAS 06 B0 2023-11-09 TUF3 23 of 44




i E B E IR S

REHRS: 64.500.24.01352.01

2.7 Rr5dERE

ARIZE R AN s B EBTE 2045 SimaPro 9.5.0.0 fkZs, {#HH Ecoinvent

3.9.1 BERE, RANRESEHE MiT(iL77479 IPCC 2021 GWP100 V1.02,

3 ik ElHiEEREE

3.1 BUERIR

R ZE R @bk B B EE R R T ZER EARMARARRARES BRMERE

) -

R 3-1 o TEIERIRR

BiEIERY BUEFRR
[RMEMER ERE Iy g SH=l
K EiRlREFER; B, KE; MEMITEMNIR
SEED (30 hlSHERE
%, BEREIIRE; GEEZEE; BEEMK
&) iR N
e EE HrrAIRE, BERGE
BHIEIE FEMEARiEas R, REERER
. O [EA MR ZR 1R Ecoinvent 3.9.1 ¥EEE
= (R
HEERIE Ecoinvent 3.9.1 ¥EEE
&) iR
TR Ecoinvent 3.9.1 #ERE

3.2 BERRIR

KRIZEFR I RBERRIZ.

CCB_PCF_F_006CS ¥R#= 06 B =55 2023-11-09 UG 24 of 44




i E B E IR S

REHRS: 64.500.24.01352.01

3.3 JEGhEIE

BEZERERREHEXY, BESHRARASRERERERMENPERTTE
B 2 470 = HCAAYZ-50-12 1), 35 3-3 LUBKEEL S 4310M-
DM-9*3 7ffl, FIH T H~ @M EBAZ FRETEGERRITN R S FETRBTE 5%

B RRETRERRMAT 1%me e, seng st A

CCB_PCF_F_006CS ¥R#= 06 B =55 2023-11-09 UG 25 of 44









ik Bz E RS
REHRS: 64.500.24.01352.01

4 ok TR ELSR KRS

- e e T B Lt
FERRE IR (K 4-1) , MRS BRI ERH TR LR SHE (%42, &

4-3) o

CCB_PCF_F_006CS HRAS 06 B =55 2023-11-09 U3 28 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

® 41 BEESHRET R RER

SRS D
e FRRS
(kgCO2eq/km)
HCAAY-50-12 2.40E+03
HCAAYZ-50-12 2.41E+03
HRCAYZ-50-9 1.79E+03
HRCAY-50-9 1.77E+03
s HCTAYZ-50-23 2.72E+03
HCTAY-50-22 2.71E+03
HCTAY-50-32 4.80E+03
HHTAY-50-42 5.81E+03
HLRWUCYZ-50-22T 1.62E+03
HLRHTCYZ-50-32T 2.87E+03
4310M-4310M-9*2 1.88E+03
4310M-4310M-9*15 1.50E+03
NM-NM-9*2 1.74E+03
4310M-4310MA-9*5 1.62E+03
4310M-DM-9*3 1.72E+03
Bk
4310M-NM-9*3 1.68E+03
4310M-DMA-9*3 1.77E+03
DM-DMA-9*3 1.82E+03
NM-NM-12*3 2.13E+03
DM-DM-12*2 2.61E+03
CCB_PCF_F_006CS hRZE= 06 -:?&EI,HH 2023-11-09 TIkg 29 of 44







i E B E IR S

REHRS: 64.500.24.01352.01

A3-fliE 3.86E+02 23.82
AL-EM MR 2.46E+03 85.79
HLRHTCYZ-
Al-A3-F= A2-iaki 1.73E+01 0.60
50-32T
A3-Fli& 3.90E+02 13.60

CCB_PCF_F_006CS

hRZ&E= 06

= 2023-11-00

Tifg 31 of 44




i E B E IR S

REHRS: 64.500.24.01352.01

= 43 o

. . _ 5 A= BA B (i ik B 75
Fmis 4 Sr R HAMER FEIT Eef5l (%)
(kgCO2eq/km)
AL-EM MR 1.76E+03 94.04
4310M-4310M- ~
Al-A3-F= 54 2-1&5a0 1.38E+00 0.07
9*2
A3-Fli& 1.10E+02 5.88
AL-EM MR 1.50E+03 99.55
4310M-4310M- -
Al-A3-F=fa 2-1550 2.07E-01 0.01
9*15
A3-Fli& 6.62E+00 0.44
Al-FEM MR 1.69E+03 97.10
NM-NM-9*2 Al-A3-F= A 2-1550 1.04E+00 0.06
A3-Flli& 4.96E+01 2.85
Al-FEM MR 1.60E+03 98.92
4310M- ~
Al-A3-F= 54 2-1550 6.77E-01 0.04
4310MA-9*5
A3-Flli& 1.68E+01 1.04
Al-EM MR 1.69E+03 08.14
4310M-DM-9*3 Al-A3-F=fa 2-1550 1.08E+00 0.06
A3-fli& 3.11E+01 1.80
ALl-RM MR 1.64E+03 97.59
4310M-NM-9*3 Al-A3-F=&a 2-1550 8.18E-01 0.05
A3-fli& 3.97E+01 2.36
Al-FEM MR 1.75E+03 98.35
4310M-DMA- -
Al-A3-F= A 2-1550 1.26E+00 0.07
9*3
A3-Flli& 2.81E+01 1.58
Al-EM MY 1.79E+03 98.38
DM-DMA-9*3 Al-A3-F=fa 2-1550 1.41E+00 0.08
A3-Flli&E 2.81E+01 1.54
ALl-RM MR 2.10E+03 98.52
NM-NM-12*3 Al-A3-F= &4
2-1550 7.12E-01 0.03

CCB_PCF_F_006CS

hRZE= 06

-;?ﬂEI,HH 2023-11-09

TS 32 of 44




i E B E IR S

REHRS: 64.500.24.01352.01

A3-Fli&E 3.08E+01 1.45

ALl-[RA ML, 2.52E+03 96.69

DM-DM-12*2 A1-A3-F= i A2-iB4a 2.33E+00 0.09
A3-FliE 8.40E+01 3.22

4.2 B AHAM ERSTIIk

% a-4 a7 2 Heaayz-50-12 1961, % 4-5 ||l 0m-om-943 15,

N - | 06 T AR R R Bk

R 4-4 45 HCAAYZ-50-12 B it 12~ iR E il e

(1% L)

4 S5 A HARY 5 A RS (i ik B i b
FHT BITidiE
1244 (kgCO.eq/km) (%)
fREsEMI 4.66E+01 1.94
meE (5K) 9.19E+01 3.82
wmEm (58 1.09E+03 45.43
Al-[R44 HDPE 5.03E+01 2.09
S 5.35E+02 22.24
oI 7T '
ALAS T GEE I 4.66E+01 1.94
BETHIFER (5
4.31E+01 1.79
fiR)
FB/7-EB &R 5 5.52E+01 2.29
A3-FliE
=5 3.33E+02 13.84

CCB_PCF_F_006CS

hRZE= 06

-:?ﬂ HER 2023-11-09

Tifg 33 of 44







i E B E IR S

REHRS: 64.500.24.01352.01

4.4 ABEMDT

SR EFHFT e IR ESIZFTR AR Ecoinvent 3.9.1, FHATE M

s8R simaPro 9.5.0.0 fy 1pce 2021 || G - =
S HCAAYZ-50-12 5Bk4%E! S 4310M-DM-9*3 Affl, EXRBEMITERNEK 4-6 5
R 4-7, IRIEOINER, &4EIS HCAAYZ-50-12 F= b B ilrss R A B RENFHEM

(cv<iom) ; grems 4s1om-om-o-3 [N -

10%~30%) o

R 4-6 Z4iB S HCAAYZ-50-12 i B Mz EERFIF EZ iR

EH T E

(CV%)

A B ¥E ERITE 5 REE

SEZ kgCO2eq/km 2.39E+03 | 2.35E+03 | 2.15E+02 8.96

R 4-7 k&AL S 4310M-DM-9*3 IR BiTMZEERFHFEZ DR

THTE
(CV%)

IR B{U Bl FR{iIk REE

=T kgCO.eq/km 1.73E+03 1.70E+03 | 2.03E+02 11.69

4.5 BURRED

BEZENBIEREDKRIE PEF FEIEREITH (DOR) 75& (R 4-8. & 4-9) o

IZEIRE LALLL HCAAYZ-50-12 58k 4310M-DM-9*3 7945, B~ DQR 94

CCB_PCF_F_006CS ¥R#= 06 B =55 2023-11-09 UG 35 of 44




ik Bz E RS
REHRS: 64.500.24.01352.01

2, sizsep~ameszmes 2omzTiEa oor [IINGTNNEEE
-2 E sk, AR SR DQR, TR HISEEEM (C)
) - <ot (Ter) . HUBAEM (Ger) . ATEARA
FHME (Tin) RN (P) REDEME 4-8 53 4-9 Fim. HF CH M NEMRE,
HAOIITAE EAE,

R4S HCAAYZ-50-12 715, 4467 By DQR B9 1.97 ; IBkEL T S 4310M-

DM-9*3 Afl, BkZk =By DQR 1B 1.57, HMFRTARFAIEIERE KT

CCB_PCF_F_006CS HRAS 06 B =55 2023-11-09 B3 36 of 44






ik Bz E RS
REHRS: 64.500.24.01352.01

R 4-9 Btk 4310M-DM-9*3 PURRREITR TR
YA
FHIT BTidiE M Ter | Ger | Tir NE
P ER
Eiges (E|) Vv 2 2 2 6.05%
Al1-A3-F= | Al-[REME}
%i%28 (PTFE) Vv 3 2 2 7.22%
om HL7
1/2" B m% v 1 1 2 86.73%
29t v | 120]113]| 2 100.00%
DOR 1.58 RFBEUIERE

5 k@l ELSICHTIFRI

I 141z 7 ¢ 7 2 [ = e v vt

Epi

wFsseg, eRvtn 7

S55AH. HEFRITNLELT MR M e A —ERSIEN, TEEMEEMEBEIH

KT Bk o, MERMEMEN FRTR, TMEANE D NERES 1/2"BRIR

£, HhEFRITA P& MY miE T B EHFEE—ERNTII, TREIMEEMEBEIIH

fER,

CCB_PCF_F_006CS

hkZS 06

-;?ﬂEI,HH 2023-11-09

TS 38 of 44




ol R EIR S
RERS: 64.500.24.01352.01

rsEsE— e
I 1 1437 % OB

CCB_PCF_F_006CS BRAS 06 B =55 2023-11-09 BUF3 39 of 44



ik Bz E RS
REHRS: 64.500.24.01352.01

1)

2)

3)

4)

5)

6)
7

8)

9)

SE 3R

ISO 14067:2018 Carbon footprint of products —Requirements and guidelines for
quantification and communication

ISO 14064-3:2019 Greenhouse gases —Part 3: Specification with guidance for
the verification and validation of greenhouse gas statements

ISO 14040:2006 Environmental management — Life cycle assessment —
Principles and Framework

ISO 14044:2006 Environmental management — Life cycle assessment —
Principles and guidelines

PAS 2050:2011 Specification for the assessment of the life cycle greenhouse
gas emissions of goods and services

GHG protocol Product Life Cycle Accounting and Reporting Standard

Zampori, L. and Pant, R., Suggestions for updating the Product Environmental
Footprint (PEF) method, EUR 29682 EN, Publications Office of the European
Union, Luxembourg, 2019, ISBN 978-92-76- 00654-1, doi:10.2760/424613,
JRC115959.

Product Environmental Footprint Category Rules Guidance, Version 6.3, May
2018.

EN 15804:2012+A2:2019 Sustainability of construction works — Environmental
product declarations — Core rules for the product category of construction products

CCB_PCF_F_006CS ¥R#= 06 B =55 2023-11-09 BG40 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

Bt A EBRERRBEERFTIR

= ~1 I

Al EIAREHER

EPRortl |

REREHER R

EizdE (E1H)

Brass {RoW}| brass production | Cut-off, U

E¥%28 (PTFE)

Tetrafluoroethylene {RoW}| tetrafluoroethylene production |

Cut-off, U

EEEH

Polyethylene, linear low density, granulate {RoW}|
polyethylene production, linear low density, granulate | Cut-

off, U

Packaging film, low density polyethylene {RoW}| packaging
film production, low density polyethylene | Cut-off, U

Packaging film, low density polyethylene {RoW}| packaging

@R
film production, low density polyethylene | Cut-off, U
Solder, bar, Sn95.5Ag3.9Cu0.6, for electronics industry
195522 {GLOY}| solder production, bar, Sn95.5Ag3.9Cu0.6, for
electronics industry | Cut-off, U
- Corrugated board box {RoW}| corrugated board box
EB4FE _
production | Cut-off, U
. Sawnwood, board, softwood, raw, dried (u=20%) {RoW}|

board, softwood, raw, kiln drying to u=20% | Cut-off, U

Wire drawing, copper {RoW}| wire drawing, copper | Cut-off,

U

REE (%K)

Copper, cathode {GLO}| market for copper, cathode | Cut-
off, U

Wem (38

Aluminium, primary, ingot {CN}| aluminium production,

primary, ingot | Cut-off, U

CCB_PCF_F_006CS

BRAS 06 ;o5 2023-11-00 I8 41 of 44




i E B E IR S

REHRS: 64.500.24.01352.01

Polyethylene, high density, granulate {RoW}| polyethylene

HDPE
production, high density, granulate | Cut-off, U
Polyethylene, low density, granulate {RoW}| polyethylene
LDPE
production, low density, granulate | Cut-off, U
Polyethylene, linear low density, granulate {RoW}|
BYAZT polyethylene production, linear low density, granulate | Cut-
off, U
Copper, cathode {GLO}| market for copper, cathode | Cut-
Rl
off, U
— Sheet rolling, copper {RoW}| sheet rolling, copper | Cut-off,
fAH T
U
Polyethylene, high density, granulate {RoW}| polyethylene
PE #FEHR
production, high density, granulate | Cut-off, U
ERTxIFER Ethylene vinyl acetate copolymer {RoW}| ethylene vinyl
(EVA) acetate copolymer production | Cut-off, U
RELIFER Polyethylene, high density, granulate {RoWj}| polyethylene
(PE) production, high density, granulate | Cut-off, U
BEETEPER (3% | Maleic anhydride {RoW}| maleic anhydride production by
52, catalytic oxidation of benzene | Cut-off, U
_ Aluminium hydroxide {CN}| aluminium hydroxide production
=R | Cut-off, U
RELXxFER
N-olefins {RoW}| n-olefins production | Cut-off, U
(POE)
BETPER (Bh Tetraethyl orthosilicate {GLO}| tetraethyl orthosilicate
71) production | Cut-off, U
. Copper, cathode {GLO}| market for copper, cathode | Cut-
HE
off, U
. Sheet rolling, copper {RoW}| sheet rolling, copper | Cut-off,
TEMT

U

A2 B8

CCB_PCF_F_006CS

k&S 06 ;o5 2023-11-00 I8 42 of 44




ik Bz E RS
REHRS: 64.500.24.01352.01

BrdiEdIR REREIERR

Transport, freight, lorry 7.5-16 metric ton, EURO4 {RoW}|
transport, freight, lorry 7.5-16 metric ton, EURO4 | Cut-off,
U

[FEitkiEt-fhis Transport, freight, lorry 16-32 metric ton, EURO4 {RoW}|
transport, freight, lorry 16-32 metric ton, EURO4 | Cut-off, U

Transport, freight, lorry >32 metric ton, EURO4 {RoW}|
transport, freight, lorry >32 metric ton, EURO4 | Cut-off, U

A3 HliE
MR
Ekeat Argon, liquid {RoW}| market for argon, liquid | Cut-off, U
RETRThZETIR

Electricity, low voltage {CN-ECGC}| market for electricity,
B8 77-EE Y

low voltage | Cut-off, U

Electricity, low voltage {CN-JS}| electricity production,
BB 7-JER photovoltaic, 3kWp slanted-roof installation, multi-Si,
panel, mounted | Cut-off, U

S Diesel {RoW}| market for diesel | Cut-off, U
IKFE Tap water {RoW}| market for tap water | Cut-off, U
EFRIETIER
EK Waste water
Hazardous waste, for incineration {RoW}| treatment of
G hazardous waste, hazardous waste incineration | Cut-off,
U
Waste, electrical and electronic cables {RoW}| treatment
B4 of waste, electrical and electronic cables, open burning |
Cut-off, U

CCB_PCF_F_006CS ¥R#= 06 B =55 2023-11-09 UG 43 of 44



i E B E IR S

REHRS: 64.500.24.01352.01

Scrap copper {RoW}| treatment of scrap copper,

BRI AR municipal incineration | Cut-off, U
e Waste polyethylene {RoW}| treatment of waste
Rk o :
polyethylene, municipal incineration | Cut-off, U
. Scrap copper {RoW}| treatment of scrap copper,
& &5 o .
municipal incineration | Cut-off, U
. Scrap copper {RoW}| treatment of scrap copper,
iR o
municipal incineration | Cut-off, U
AR Waste paperboard {GLO}| treatment of waste
B paperboard, open burning | Cut-off, U
. Waste wood, untreated {RoW}| treatment of waste wood,
ARk o :
untreated, municipal incineration | Cut-off, U
Waste polyethylene {RoW}| treatment of waste
[REERI

polyethylene, municipal incineration | Cut-off, U

Waste polyethylene {RoW}| treatment of waste
polyethylene, municipal incineration | Cut-off, U

EiREm (K1)

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

EieE (58)

Scrap aluminium {RoW}| treatment of scrap aluminium,
municipal incineration | Cut-off, U

EIE T

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

EENTZ5R

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

BIFER

Waste polyethylene {RoW}| treatment of waste
polyethylene, municipal incineration | Cut-off, U

BEiSg (3R)

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

Scrap copper {RoW}| treatment of scrap copper,
municipal incineration | Cut-off, U

Scrap aluminium {RoW}| treatment of scrap aluminium,
municipal incineration | Cut-off, U

CCB_PCF_F_006CS

KRS 06 ;o5 2023-11-00 TIEG 44 of 44




	dark_signature_error: 
	signature_error: 
		2024-03-29T16:24:01+0800
	中国
	文档加密保护




